MCM301 Assignment 1 Solution
Questions

1- Which level of listening, Mr. Shahid Khagan Abbasi involved in? Justify your opinion
with logical arguments. (5 marks)

Answer: Mr. Shahid Khagan Abbasi was involved in partial level of listening. Because, anchor
Shahzeb Khanzada asked Shahid Khaqan Abbasi question about their preparation of upcoming
elections and Shahid Khagan Abbasi did not answer his question according to the question as he
listen to him partially and missed some points of his questions.

2- Which level of listening Mr. Hammad Azhar is involved in? Justify your opinion with
logical arguments. (5 marks)

Answer: Mr. Hammad Azhar was involved in Protective level of listening as the anchor was
interrupting him with unusual questions in between his answer. Anchor was giving hostile
expressions and remarks directly at him. He was trying to answer his first question and the
anchor was interrupting him again and again.

3- Which type of listening, Anchor Shahzeb Khanzada is involved in? Justify your opinion
with logical arguments. (5 marks)

Answer: Anchor Shahzeb Khanzada was involved in Critical type of listening as he asked
Hammad Azhar a question, while he was answering anchor’s question he kept interrupting him
with unusual questions in between as he may want to listen biased source of information.



